Name:

Compass Worksheets A thru G

Answers are available at the end of each worksheet. The solutions can be viewed online at:

http://www.highlands.edu/site/academic-support-compass-math-practice
PLEASE DO NOT PRINT THE POWERPOINT SOLUTIONS

Compass Worksheet A

Al. Ifx=-1andy =3, what is the value of the expression 3x’ - 2xy ?
OA. 9 OB. -3 OcC. 3 OD. 9 OE. 21

A2.  Which of the following expressions represents the product of three less than x and five more
than twice x ?

OA. 2x+11x+15 OD. 2x -x-15

OB. 2x’-1Ix+15 OE. 2x°+22x+15

OC. 2x*+x-15

A3. A student earned scores of 83, 78, and 77 on three of four tests. What must the student score
on the fourth test to have an average (arithmetic mean) of exactly 80?

OA. 80 OD. 85
OB. 82 OE. 86
OC. 8
A4.  What is the equation of the line that contains the points (2, 3) and (14, - 6)
OA _o3 +5 OD _-4 +1—7
- Y= 4x .oy= 3x 3
-3 9 -1 5
OB. y=—ux+— OE. =
y 4 X+ ) y > X+ 5

3
OC. y=zx+5

x2=x-20
AS.  Forallx#+4, ————=7?
x- =16
+5 +5
OA. > oD. >
x—4 x+4
+4 -5
oB. = OE =
x+4 x—4
oc. X2

x+4



A6.

O A.
O B.
O C.
O D.
OE.

AT.

O A.
O B.
O C.
O D.
OE.

AS8.

O A.
O B.
O C.
O D.
OE.

A9.

O A.
O B.
O C.
O D.
OE.

A10.
O A.
O B.
O C.
O D.
OE.

A rope 36 feet long is cut into three pieces, the second piece is four feet longer than the first,
the last piece is three times as long as the second. If x represents the length of the first
piece, then which equation determines the length of the first piece?

36 =5x+8

36=x+(x+4)+(3x)

36 =3x+12

36=x+(x+4)+3(x+4)

36 =3x+16

The product (x> + 3)(x - 1) is
x> +3x%*-x-3

x> +2x -3

3x-3

x> -3

x> -x*+3x-3

If n is an integer which expression must be an even integer?
2n+1

2n-1

n+1

2n’

2
n

If x = -3, what is the value of 2x*+ 3x - 5 2
-22

-6

-5

4

22

Which of the following is the complete factorization of 2x° - 13x - 24 ?
(2x-6)(x+4)
(x-6)(2x +4)
(2x-3)(x - 8)
(2x+3)(x-8)
2(x +3)(x-4)

Answers: 1C 2D 3B 4B 5E 6D 7E 8D 9D 10D



Compass Worksheet B

B1.

O A.
O B.
O C.

B2.

O A.
O B.
O C.

B3.

O A.

O B.

O C.

O D.

OE.

B4.

O A.
O B.
O C.

BS.

O A.
O B.
O C.

Which of these is the product of (a + 2b) and (c - d)?

ac +ad + bc - 2bd OD. ac-ad+2bc+2bd
ac - ad + bc - 2bd OE. ac-ad+2bc-2bd
ac - ad + bc - 2bd

If a=-2 and b = 3, what is the value of the expression 3(a + b)(a - b).

-5 OD. -15
5 OE. 75
15
A
™N
This is a graph of which equation? Y
3 N
y= —5x+6 N
N

2 +6 »

ar : Y
2 6
=—x+
__2 +6
2

y= —gx—6 v
What is the solution to the equation 2(x+3)-3(x+5)=137?
-22 OD. 5
-12 OE. 15
-4

Peggy gets paid a weekly salary of D dollars a week plus a commission of 8% on her total
sales S. Which expression below best describes Peggy’s weekly pay?

D+S OD. D+.08S
8D + S OE. .08(D+YS)
D+ 8S



Bé.

O A.
O B.
O C.
O D.
OE.

B7.

O A.
O B.

O C.
O D.
OE.

BS.

O A.

O B.

O C.

B9.

O A.
O B.
O C.

B10.

O A.
O B.
O C.

Which of these is the product of (D* + 2D? - 2D + 3) and (D - 5) ?

D*+2D%-2D*+ 3D
D*-3D*-8D*+ 13D - 15
D*-3D’-12D*-7D- 15
D*+7D° + 12D*+ 13D + 15
D*-3D’-12D*+ 13D - 15

What is the distance from point A to point B?
13
85

NG
V13
85

-37.2
a’b

—4
a’b

Foralla#0and b#0,

— OD. —¢

— OE.

For all a, b, and ¢, (a’b *c)

a’bc? OD. a’b?
ab*c? OE. 2a’b%c
a’bic?

Forall x,3(2x +5)-4(x-2)=32x+2)+ 1

x=9 OD. x=3
Xx=-5 OE. x=0
x=4

Answers: 1E 2D 3D 4A 5D 6E 7E 8D 9B 10C

>

=]




Compass Worksheet C

1. If x =-2 and y = -3, what is the value of the expression 4x° - 2xy ?

O A. 36 OB. 20 OC. 20 OD. 36 OE. 44

2. Which of the following expressions represents the product of four more than twice x and six less
than x?

OA.x*-4x-12 OD. 2x*+16x+24
O B.2(x*-4x — 12) OE. 2x*-16x-24
O C. 8x*- 48x

3. A student earned scores of 85, 76, and 78 on three of four tests. What must the student score on
the fourth test to have an average (arithmetic mean) of exactly 80?
OA. 79 OB. 80 O C. 81 OD. 82 OE. 83

4. Which of the following is an equation of the line that contains the points (2, 3) and (4 , 6)?
-3 2

OA. y=— O D. =—Xx
Y75 Y73
OB. y=3y OE. 2
2 y=§x+6
OC. y:%x+6

2
5. Forall x ' +6, X —x=A —x—30:?

OA. x4+5 =36 op. ¥t
x+6

x—6
OB. r+6 OE X2
x—6

x—6

OC. x-5




6. Each circle has a diameter of 6. What is the location of point B the center of the bottom circle?
O A.(6-15) A

O B. (6, -18)

/
O C. (3,-15)
O D. (3,-18)
OE. (1,-3)
7. Forall x, (X*+ 3x + 9)(x - 3) is °
OA.x>*+3x*-x-3

OB.x>+2x-3
OC.3x-3
OD.x*-27
OE.x*-x*+3x-3

>

8. fA°B=2A+3B,find4°5
O A.20
O B.23

B
OC.17
OD.9
OE.5
9. What is the perimeter of AABC?
OA.8
OB. 10
OC.14 <
O D.24
OE. 28 A

10. What is the value of 64%3?

OA.4
O B. 16
OC. 213
O D.9%
OE. 128

3

Answers: 1E 2B 3C 4B 5D 6C 7D 8B 9D 10B



Compass Worksheet D

1.Ifx = -1 and y = -2, what is the value of the expression 2x’y — 3xy?
A. -24

B. -10

C. -2

D. 2

E. 10

2. What are the solutions to the quadratic x - 2x - 48 = 0?
6 and 8

-6 and -8

-6 and 8

6 and -8

3and 16

mOOw >

3. What is the sum of the solutions to the quadratic x* - 2x - 48 = 0?
14

-14

2

-2

19

moOw >

4. What is the sum of the solutions of the quadratic equation x* + 3x = 28?
A. 3

B. -3

C. 11

D. -11

E. 10

5. What is the sum of the solutions of the quadratic equation 2x* - x = 15?

B. — C. — D. — E. -1
2

6. If the equation x° - x = 6 is solved for x, what is the sum of the solutions?

f
3
2
5
1



|

. What are the solutions to the quadratic X% - 5x = -6
-2,-3
2,3
1,6

6

SRR

-1, -
2,3
2

8. Forall x #2, X =5x+6
A. (x+5) x=2

B. (x-2)

C. (x+2)

D. (x-3)

E. (x+3)

?

9. If x = -4 is a solution to the equation x> + 11x + K =0, then K = ?
16

28

-28

60

-60

Mmoo

. What are the solutions to the quadratic x* - 10x + 24 = 0?
. 4and 6

-4 and 6

-4 and -6

. 2and-12

-2 and 12

HMOO0WP S

Answers: 1B 2C 3C 4B 5A 6D 7B 8D 9B 10A



Compass Worksheet E

2
E1. What is the value of w when x = -5?
X+2
OA. OB. [y OC. _jj OD. -3 OE,
8 8 3

E2. Simplify V50 5V3
36

oA V2.5 op W6 g WS op 10V2 g 10V2+53
2 6 6

3

_t—

3 2

E3. In the figure below what is the distance between point A and B?

OA. 11 A
OB. 10 AL
oc. 1
OD. 9 <
B
OE. 465
v

E4. In the standard coordinate plane what is the distance between (-5, 2) and (1, -6)?

OA. 9 OB. 10 OcC. 1 OD. 14 OE 14
E5.27 %3 =9
1 1 1
OA. 18 OB, L oC. 9 oD. - OE -
13 9 9



E6. The parabola below is a graph of which equation?
2.4 4

OAy=(x-2"+4

OB.y=(x+2)+4

OC.y=-(x-2)>+4

OD.y=-(x+2)+4 (-4,0) (0, 0)

>
OE.y=x"+4x+38

E7. The solution of the equation below falls between what two integers?
2x+8=7x+20
OA. -4and-3 OB. -3 and -2 OC. -2and-1 OD. land2 OE. 2and3

E8. What is the solution of the system of equations below?

O A. (3a,2a) 3x+4y=a
O B. (-3a, 2a)

’ 2x—4y =14
O C. (154, 11a) roay=id
O D. (154, -11a)
OE. (3a, -2a)

E9. What is the slope of the line in the standard coordinate plane determined by the
equation 2x - 3y = 127

OA. 3 OD._—2

3

OB. —3 OE. -4
oc. =
3

E10. For all x and y, (x + 2y)* - 4p(x + y) = ?

OA. x* OB. x*-4xy OC. x*-2xy OD. x>+ 87 OE. (x +4y)(x-4y)

Answers: 1E 2E 3E 4B 5E 6D 7B 8E 9C 10A



Compass Worksheet F

F1 Which equation best describes the data in this table?

X 0 2 -2
Y 5 1 9
OA y=4x-17 OB. y=x-6
=3x+5
F2 For all x, AzS x> =7
VX' +7
OA. 9 OB. 3 OC. 16 O D.
3 6
oa 1BV op. M8
6 9
OB. 8 OE. 4+%
oc. HB+55
6
F4 What is the slope of 3x + 2y = 6?
-2
OA. 3 OB. — ocC. =
3 3
F5
equation y = -2x + 5?
O A. y:lx+5 OD.yz_—1x+5
2 2
1 -1
OB. y=—x+2 OE. y=—x+2
5 5
OC. y:gx+1
5
Fé6

OC. y=-2x+5

OE.

O D.

OD. y=4x+3

N | W

OE.

OE.

Which of these equations defines a line that is perpendicular to the line given by the

In the standard (x, y ) plane, what is the distance between (3\/5 ,0) and (6\/§ ,4)?



OA. 45 OB. 16 oc. el OD. 61 OE. 29

F7 What are the (x, y) coordinates of the point of intersection of the lines determined by the
equations 2x — 3y = 4 and y = x?

OA. (4,4 OB. (4,-4) O C. (-4, 4) OD. (4,-4) OE. (2,0)

F8 If V is a special operation defined by (a V b) =3a—2b and (6 V x) =8 then x = ?

OA. 2 OB. 3 OC.5 OD. 4 OE. 6

F9 12x* + 11x — 36 is the product of (3x — 4) and another polynomial. What is the other
polynomial?

OA. 9x—4 OB. 4x* OC. 4x*+9 OD. 4x-9 OE. 4x+9
Fl0 0

81
oa 2 oB. 2 oD, = oc. 2 4

9 9 9 20.25

Answers: 1C 2A 3C 4E 5A 6C 7B 8C 9E 10C



Compass Worksheet G

G1 Which equation best describes the data in this table?

X -3 0 3

Y -6 -4 -2
OA. 2X+Y=-12 OD. 2Y=3X+12
OB. 2X=-6 OE. -3X+Y=-8

OC. 2X-3Y=12

G2 Forallx, ——=6 x> =7
VX' +4
OA. 9 OB. 3 OC. 5 OD. 7 OE. 4
Gy VI8 32
2 3
OA. 2 OD. %
OB. 5J10 OE. #
ocC. 96 +4+/2
6
5a
G4 Forallazb, —L =2
2a
a->b
2 —_—
oa & op D g 2 op. P OE.
ab—-b 2b 5(a-b) 2(a-b)
ab—b*
104*

G5  Which of these equations defines a line that is parallel to the line given by the
equation y = -0.5x + 5?

O A. y=%x—5 OD.yz%lx+7

O B. y:§x+2 OE. y:_?lx+2

O C. y:§x+1



G6  In the standard (X, y ) plane, what is the distance between (3\/5 ,—1) and (6\/§ ,2)?
OA. 6 OB. 9 OC 3/3 OD 27 OE 9+9%3

G7  What is the solution of the system of equations below?
O A. (3a, 2a) x+2y="Ta

O B. (-3a, 2a)
O C. (a,2a)
O D. (5a,-a)
OE. (3a, -2a)

3x-2y=>5a

G8 Forallx, (x—3)*+3(2x—-3)=2
OA. ¥

OB. ¥ —12x

OC. x*—6xy

OD. X*+12x +18

OE. x>~ 12x +18

Gy 8=?
OA. 4 OD._T16
_1 1
O B. 4 OE. —
4
OC. 4
2_
G10. What is the value of k when ¢1Z24:x—2?
x_
OA. 10 OB. -10 OC. 14 OD. -14 OE. 2

Answers: 1C 2C 3E 4B 5D 6A 7A 8A 9E 10C
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